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Note : Answer questions from each Section as 

per instructions. 

 Section A : Answer any two questions. 

 Section B : Answer any four questions. 

 Section C : Write short notes on any 

                three. 
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 Section—A 2×20=40 

1. (a) “Want is different from demand of the 

commodity.” Explain how ? Give 

reasons as to why the demand curve 

slopes downwards. 10 

(b) Explain the main determinants of price 

elasticity of demand. 10 

2. (a) Derive the demand curve with the help 

of Law of Diminishing Marginal Utility.  

10 

(b) Using diagram, show that price effect is 

the sum of income and substitution 

effects for a normal good. 10 

3. (a) Explain the concept of expansion path 

in the long-run. Draw the same for a 

linear production function which is 

homogeneous. 10 
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(b) Explain why for a least cost 

combination of inputs, a firm requires 

that the marginal rate of technical 

substitution be equal to the ratio of 

input prices. 10 

4. (a) Discuss the properties of indifference 

curve.  10 

(b) Calculate AVC, ATC and MC for the 

following : 10 
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 Section—B 4×12=48 

5. What is production possibility curve ? State 

its properties. When does PPC shift ? 12 

6. What is the Law of Equi-Marginal Utility ? 

Explain how the consumer equilibrium is 

achieved in multi-commodity case. 12  

7. Discuss the implications of a price ceiling 

using diagram. Give an example of price 

ceiling.   12   

8. Explain the different stages of law of 

returns to scale with the help of isoquants.  

12 

9. Explain the relationship between average 

cost and marginal cost with the help of a 

diagram.   12 

10. Explain the concept of diminishing returns 

in production. Why the law does not operate 

in agriculture ? 12 
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Section—C 

11. Write short notes on any three of the 

following :  3×4=12 

(i) Difference between Economic profit and 

Accounting profit 

(ii) Exceptions to the Law of Diminishing 

Marginal Utility 

(iii) Cross price elasticity of demand 

(iv) Central problems of an economy 

(v) Merit goods  
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 BECC–131 

dyk Lukrd (lkekU;)  

(ch- ,- th-) (vFkZ'kkL=) 

l=kar ijh{kk  

twu] 2025 

ch-bZ-lh-lh-&131 % O;f"V vFkZ'kkL= ds fl¼kUrµI 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % izR;sd Hkkx ls funsZ'kkuqlkj iz'uksa ds mÙkj nhft,A 

 Hkkx&^d* % fdUgha nks iz'uksa ds mÙkj nhft,A 

 Hkkx&^[k* % fdUgha pkj iz'uksa ds mÙkj nhft,A 

 Hkkx&^x* % fdUgha rhu ij y?kq fVIif.k;k¡ fyf[k,A 

 Hkkxµd 2×20=40 

1- (d) ßbPNk fdlh OkLrq dh ek¡x ls fHkUu gksrh gSAÞ dSls] 

le>kb,A ek¡x oØ ds uhps dh vksj <yok¡ gksus ds 

dkj.k crkb,A 10 
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([k) ek¡x dh dher yksp ds eq[; fu/kkZjdksa dh O;k[;k 

dhft,A  10 

2- (d) Îkleku lhekar mi;ksfxrk ds fu;e dh lgk;rk ls 

ek¡x oØ dh O;qRifÙk dhft,A 10 

([k) ,d js[kkfp= }kjk le>kb, fd lkekU; oLrq ds fy, 

dher izHkko vk; vkSj izfrLFkkiu izHkkoksa dk 

;ksxQy gh gksrk gSA 10 

3- (d) nh?kZdkfyd foLrkj iFk dh ladYiuk dh O;k[;k 

dhft,A ,d le?kkrh; jSf[kd mRikn Qyu dk 

foLrkj iFk cukb,A 10 

([k) le>kb, fd ,d U;wure ykxr lk/ku la;kstu ds 

fy, QeZ ds fy, lhekar rduhdh izfrLFkkiu nj dk 

vknku dher vuqikr ds leku gksuk D;ksa vko';d 

gksrk gSA  10 
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4- (d) mnklhurk oØ dh fo'ks"krkvksa ij ppkZ  

dhft,A  10 

([k) fuEufyf[kr ds fy, AVC, ATC vkSj MC dk 

vkdyu dhft, % 10 

mRiknu TC TFC 
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 Hkkxµ[k 4×12=48 

5- mRiknu laHkkouk oØ D;k gksrk gS \ bldh fo'ks"krk,¡ 

crkb,A ;g PPC fdl le; foofrZr (f[kld tkrh) 

gksrh gS \   12 
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6- lelhekar mi;ksfxrk dk fu;e D;k gS \ le>kb, fd 

cgq&oLrq ifjos'k esa miHkksDrk dk larqyu fdl izdkj Kkr 

gksrk gSA   12 

7- ,d js[kkfp= }kjk vf/kdre dher fu;r djus ds 

fufgrkFkZ le>kb,A vf/kdre dher dk ,d mnkgj.k Hkh 

nhft,A   12 

8- leksRikn oØksa dh lgk;rk ls izfrizkfIr ds fu;e ds 

fofHkUu lksikuksa dks le>kb,A 12 

9- ,d fp= }kjk vkSlr ykxr vkSj lhekar ykxr ds chp 

laca/k le>kb,A 12 

10- mRiknu esa Îkleku izfrQy dh ladYiuk dks le>kb,A 

;g fu;e Ïf"k ij D;ksa ykxw ugha gks ikrk \ 12 

Hkkxµx 

11- fuEufyf[kr esa ls fdUgha rhu ij laf{kIr fVIif.k;k¡  

fyf[k, %   3×4=12 

(i) vk£Fkd ykHk vkSj ys[kkadu YkkHk esa Hksn  
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(ii) Îkleku lhekar mi;ksfxrk fu;e ds viokn 

(iii) ek¡x dh fr;Zd dher yksp 

(iv) ,d vFkZO;oLFkk dh dsanzh; leL;k,¡ 

(v) fo'ks"k xq.k oLrq,¡ 

× × × × × 


